

















(8) (1) Secondary colours of light
-22531%0

Are colours obtained by mixing (1) two primary colours of light (1)

2x 1 =2 marks

(11) secondary colours formed from the mixture of

(@)  Redand green
Yellow (1)

B Blue and green
Cyan (1)

y) Red and Blue
Magenta (1)

3 marks

(b) (1) Definition of the mole of a substance

i - Samc¢< :
It is the amount of §ubstancc which contains some number of chemical units
[ s

atoms, molecules}:(c. as there are carbon atoms in 12 g of carbon-12 isotopes
'

OR
It is the amount of substance which contains one Avogadro number of
particles

2 marks or zero

(ii)  Calculation of the number of atoms in 18 g of magnesium metal

|
Number of moles of Mg = ;—:- 1075 (1)

1 mole of Mg contains 6.02 x 10* atoms
0.75 mole of Mg contains 6.02 x 10* x 0.75 (1)
=45x 10" atoms (1)
3x 1= 3 marks

() () istinction betw

Bone is a hard / in elastic / tough / rigid connective tissue forming part of the
skeleton. Cartilage is a soft / elastic / flexible connective tissue that protects
the bone from robbing against each other.

2 marks or zery
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(i)

drainage ‘11,‘

Nutrients that diss

ved in the o1l water are re Moved logethes ' %

CXCESS WRLET / Wealres ) ik ,
[ Valer / waler washes iway the top soil (humus) therel

""3‘”'"“)' the s0il of §

S nutnents (1)

X | =2 marks

RL.]-‘(»h 1O using (1,_.‘“ ¢ in Il"l.‘:l!ll,\ll, wiring

(&) Earthing

F'o conduct excess charges / current on an appliance safely to earth
OR
F'o prevent the user of the appliance from getting electric shock when
from charges on the casing of the appliance ‘
OR ) ) R
It protects the circuit breaker / fuse / electrical appliances
() Slabilizer
T'o keep the voltage through an appliance constant / Regulates the
fluctuating voltage / current
1 x1=1 mark
(7) Fuse
l'o cut power supply to an appliance/circuit when the current goes
beyond acceptable level / to protect an appliance from being damaged
by excessive current
| x1=1 mark

Explanation of behaviour of a P-N junction diode when it is forward-biased
the junction narrows (1)
- holes move across the junction to the N-type material / electrons move in
the opposite direction into the P-type material (1)
much more current flows in the circuit
Any2x | = 2 marks

Importance of factors in the germination of sceds

(1)

(1)

water -
. enables food materials to dissolve diffuse into the embryo
- imbibition of water activates the protoplasm of the cells of the sesd
softens the seed coat / makes the seed coat permeable for gaseous
exchange
activates enzymes (which break down food materials)
Any | x| = | mark

oxygen
Oxidizes food in the seed (to provide the embryo with energy required for its

growth)
I x1=| mark












